Edexcel AS Mathematics Coordinate geometryo

Section 1: Points and straight lines

Solutions to Exercise level 1

L @ O cradientofar =Lz 7 _3

X=Xy B-F 4

3
2
(it) qradient wm of perpendicular line satisfies mx2=—1

so gradient of perpendicular line = _*
3

(i) Mislpoint of AB = (3 ;7 = :Lj ~(5,2.5)

(v) Distance AB = (2~ 7)* +(1—4)°
=25
=5

(o) (1) C,moiiewto-fAB:%_gz:ﬁ_(_i)zﬂz_
X, —X, —2-3 -5

(it) radient w of perpendicular line satisfies mx—2=—1

. , ] 1
so gradient of perpendicular line = —,
2

(i) Midkpolnt of AB = (_2; =) +2(_1) j —(0.5,4)

(v) Dlstance AB = \[(2-3) +(9—(-1))
=4/25 +100

=125

— 55

2 () y=x+3 /
Gradient = 1 =
When x =0, yy = 3
When y = 0, x+3=0=>x=—3 /3
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Edexcel AS Maths Coordinate geometry 1 Exercise

(it) Yy=2x-1
Gradient = 2
when x = oy=-1

solutions

When ¢y =0, 2x—1=0=>x=3

(Lit) X+Yy=5
Yy=—x+5
Gradient = -1
When x =0, y =5
Wl/lewg =0, xX=5

(tv) 4y =x+12
Yy=5x+3
Gradient =%
Whewx=0,g= =

Wl/lewg=o,x+1:2:0:>x:—12

V) 3y+x+e=o
B3Yy=-Xx-6
Yy=—3x-2
Gradient = —%
When x =0, Y = -2

Whew5=0, X+te=0—=>xx=—6

(Vi) SYy=15—-2x
y=3-sx
Gradient = -2

whewn x = 0, SY=15=4y=3
Whem.g:O, 15 - 2X=0=> X =35

. (@) Gradient =1, y-intercept = 2
Bquation of linels yy=x+2

(b) Gradient = %, Y-intercept = -1
Bquation of linels y=4x—-1

or Qg:/r—z
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solutions
(¢) gradient = —1, g-’mtercept =.-2
Bquation of linels y=-4x-2
or QY+ X+4=0

(d) qradient = —%,4- intercept = 3
Bquation of linels yy=—-%x+3
or 44yt x=12

(6) Gradient = —£, passes through (-1, 4)
Equation of Line is Yy—4=—2(x—(-1))
3(y—4)=-8(x+1)

BYy-—12=-8x-¢

3y+ex=4
. -5 2 1
qradient of AB = 7 ===
9-32 & 3
- -3
Gradient of BC = S A
10-9 1
2- -2 1
qradient of CD = t_=_1
4-10 -6 =3
. 2-5 -
Gradient of AD = == —_
4-3 1

AR and CP are parallel, and BC and AD arve paratlel,

The gradients of AB and CP are 3,

andl the gradients of BC anol AD are -3,

Sinee £x—3=—1, AB and CD are perpendicular to BC and AD
S0 ABCD is a rectangle,

L |ae|= J4* +2* =5
|4B|= 12 +(-1)* =2

(i) gradient AB=%F=-1  gradient AC=2=1

1

@Yﬂdlﬁ&w’c AE = % =— gyaoli,gv\,t DE = % =6

2
4

gradient CD =+ =1

(itl) AC and CD are parallel to each other
AR s perpendicular to AC and to CD

(tv) gradient BF =2 =—1
so the angle between AC and BF is 907,

30f3

integralmaths.org

07/04/16 © MEI



